
KA75 // KA75 // THE SANTIAGOTHE SANTIAGO

DECORATIVE ARM

20 5/8"

13 9/16"

The King Luminaire KA75 Arm is a traditional 
design. This aluminum arm is available in 
a variety arm configurations. The KA75 is a 
unique solution for your street lighting needs. 

ARM SPECIFICATIONSARM SPECIFICATIONS

10-31-2023

MOUNTING TYPES:MATERIAL:
Aluminum

MOUNTING TYPE:
Side
Tenon
Wall

ARM QUANTITY:
Single
Double
Triple
Quadruple

ARM LENGTHS:
Fixed Length

FINISH:
Available in textured 
or smooth.

EPA
1.29 - 5.51 sq. ft.

WEIGHT
9 - 60 lbs

HOW TO ORDERHOW TO ORDER

KA75

ARM 
STYLE
KA75

# OF ARMS

1  - Single
2 - Double
3 - Triple
4 - Quadruple  

LENGTH

FL - Fixed Length

FL- -

MOUNTING
TYPE

-

MATERIAL
A  - Aluminum

-A

T - Tenon
S - Side
W - Wall

Catalog 
Number

Mount 
Type

# of 
Arms

L.  
(ft)

EPA  
(sq ft)

Wt. 
(lbs)

KA75-A-S-1 Side 1 20 5/8 1.30 9

KA75-A-S-2 Side 2 20 5/8 2.60 18

KA75-A-T-1 Tenon 1 20 5/8 2.41 43

KA75-A-T-2 Tenon 2 20 5/8 3.35 45

KA75-A-T-3 Tenon 3 20 5/8 4.43 52

KA75-A-T-4 Tenon 4 20 5/8 5.51 60

KA75-A-W-1 Wall 1 20 5/8 1.29 14

EPA & WEIGHTEPA & WEIGHT

12" 9"

4"

Side/Wall Mount Details 
4” x 1 3/4” x 12”L

Tenon Mount Details 
To Accept A 4” IPS (4 1/2” O.D.) 

Tenon x 9 1/2”L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

2"

4"

2"

4"



CONFIGURATION OPTIONSCONFIGURATION OPTIONS

www.scgrp.com

KA75 THE SANTIAGO 

KA75 ARM 

DWG #: Q-2101061-24
DONE BY: OM
DATE: 01/17/22
PAGE 1 0F 1

WEIGHT (LBS)EPA (FT^2)ARM

KA75-A-S-1

ARM LENGTH:
AVAILABLE IN 20 5/8", 24"

KA75-A-S-2

1.30

2.60

9

18

KA75-A-T-1

KA75-A-T-2

2.41

3.35

43

45

20 5/8"

9"

A

A

29"

24"

29"
TYP.

24"
TYP.

SCHEMATICAL CONFIGURATIONS

29"
TYP.

SCHEMATICAL CONFIGURATIONS

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

A A

(4) 1/4-20 TAPPED
HOLES AT 90° APART ON
A 6" � BOLT CIRCLE IN
PILLAR BLOCK CASTING

VIEW A-A

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

24"
TYP.

SET SCREWS

2 SETS OF
(3) 3/8"-16

29"
TYP.

KA75-A-T-3 4.43 52

KA75-A-T-4 5.51 60

KA75-A-W-1 1.29 14

24"
TYP.

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

13 9/16"

20 5/8"

A

A

 13 9/16"

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

2"

4"

9"

2"

4"

2"

4"

2"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

Side Mount Single Arm

KA75 ARM 

DWG #: Q-2101061-24
DONE BY: OM
DATE: 01/17/22
PAGE 1 0F 1

WEIGHT (LBS)EPA (FT^2)ARM

KA75-A-S-1

ARM LENGTH:
AVAILABLE IN 20 5/8", 24"

KA75-A-S-2

1.30

2.60

9

18

KA75-A-T-1

KA75-A-T-2

2.41

3.35

43

45

20 5/8"

9"

A

A

29"

24"

29"
TYP.

24"
TYP.

SCHEMATICAL CONFIGURATIONS

29"
TYP.

SCHEMATICAL CONFIGURATIONS

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

A A

(4) 1/4-20 TAPPED
HOLES AT 90° APART ON
A 6" � BOLT CIRCLE IN
PILLAR BLOCK CASTING

VIEW A-A

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

24"
TYP.

SET SCREWS

2 SETS OF
(3) 3/8"-16

29"
TYP.

KA75-A-T-3 4.43 52

KA75-A-T-4 5.51 60

KA75-A-W-1 1.29 14

24"
TYP.

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

13 9/16"

20 5/8"

A

A

 13 9/16"

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

2"

4"

9"

2"

4"

2"

4"

2"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

Side/Wall Mount Details

Wall  Mount Single Arm

KA75 ARM 

DWG #: Q-2101061-24
DONE BY: OM
DATE: 01/17/22
PAGE 1 0F 1

WEIGHT (LBS)EPA (FT^2)ARM

KA75-A-S-1

ARM LENGTH:
AVAILABLE IN 20 5/8", 24"

KA75-A-S-2

1.30

2.60

9

18

KA75-A-T-1

KA75-A-T-2

2.41

3.35

43

45

20 5/8"

9"

A

A

29"

24"

29"
TYP.

24"
TYP.

SCHEMATICAL CONFIGURATIONS

29"
TYP.

SCHEMATICAL CONFIGURATIONS

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

A A

(4) 1/4-20 TAPPED
HOLES AT 90° APART ON
A 6" � BOLT CIRCLE IN
PILLAR BLOCK CASTING

VIEW A-A

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

24"
TYP.

SET SCREWS

2 SETS OF
(3) 3/8"-16

29"
TYP.

KA75-A-T-3 4.43 52

KA75-A-T-4 5.51 60

KA75-A-W-1 1.29 14

24"
TYP.

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

13 9/16"

20 5/8"

A

A

 13 9/16"

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

2"

4"

9"

2"

4"

2"

4"

2"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

Tenon Mount Details

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

2"

4"

2"

4"



CONFIGURATION OPTIONSCONFIGURATION OPTIONS

www.scgrp.com

KA75 THE SANTIAGO 

Tenon Mount Triple Arm

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

KA75 ARM 

DWG #: Q-2101061-24
DONE BY: OM
DATE: 01/17/22
PAGE 1 0F 1

WEIGHT (LBS)EPA (FT^2)ARM

KA75-A-S-1

ARM LENGTH:
AVAILABLE IN 20 5/8", 24"

KA75-A-S-2

1.30

2.60

9

18

KA75-A-T-1

KA75-A-T-2

2.41

3.35

43

45

20 5/8"

9"

A

A

29"

24"

29"
TYP.

24"
TYP.

SCHEMATICAL CONFIGURATIONS

29"
TYP.

SCHEMATICAL CONFIGURATIONS

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

A A

(4) 1/4-20 TAPPED
HOLES AT 90° APART ON
A 6" � BOLT CIRCLE IN
PILLAR BLOCK CASTING

VIEW A-A

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

24"
TYP.

SET SCREWS

2 SETS OF
(3) 3/8"-16

29"
TYP.

KA75-A-T-3 4.43 52

KA75-A-T-4 5.51 60

KA75-A-W-1 1.29 14

24"
TYP.

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

13 9/16"

20 5/8"

A

A

 13 9/16"

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

2"

4"

9"

2"

4"

2"

4"

2"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

KA75 ARM 

DWG #: Q-2101061-24
DONE BY: OM
DATE: 01/17/22
PAGE 1 0F 1

WEIGHT (LBS)EPA (FT^2)ARM

KA75-A-S-1

ARM LENGTH:
AVAILABLE IN 20 5/8", 24"

KA75-A-S-2

1.30

2.60

9

18

KA75-A-T-1

KA75-A-T-2

2.41

3.35

43

45

20 5/8"

9"

A

A

29"

24"

29"
TYP.

24"
TYP.

SCHEMATICAL CONFIGURATIONS

29"
TYP.

SCHEMATICAL CONFIGURATIONS

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

A A

(4) 1/4-20 TAPPED
HOLES AT 90° APART ON
A 6" � BOLT CIRCLE IN
PILLAR BLOCK CASTING

VIEW A-A

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

24"
TYP.

SET SCREWS

2 SETS OF
(3) 3/8"-16

29"
TYP.

KA75-A-T-3 4.43 52

KA75-A-T-4 5.51 60

KA75-A-W-1 1.29 14

24"
TYP.

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

13 9/16"

20 5/8"

A

A

 13 9/16"

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

2"

4"

9"

2"

4"

2"

4"

2"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

Tenon Mount Quadruple Arm

Tenon Mount Single Arm

Tenon  Mount Double Arm 

KA75 ARM 

DWG #: Q-2101061-24
DONE BY: OM
DATE: 01/17/22
PAGE 1 0F 1

WEIGHT (LBS)EPA (FT^2)ARM

KA75-A-S-1

ARM LENGTH:
AVAILABLE IN 20 5/8", 24"

KA75-A-S-2

1.30

2.60

9

18

KA75-A-T-1

KA75-A-T-2

2.41

3.35

43

45

20 5/8"

9"

A

A

29"

24"

29"
TYP.

24"
TYP.

SCHEMATICAL CONFIGURATIONS

29"
TYP.

SCHEMATICAL CONFIGURATIONS

NOTE: FRONT &
BACK ARM

REMOVED FOR
CLARITY

A A

(4) 1/4-20 TAPPED
HOLES AT 90° APART ON
A 6" � BOLT CIRCLE IN
PILLAR BLOCK CASTING

VIEW A-A

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

24"
TYP.

SET SCREWS

2 SETS OF
(3) 3/8"-16

29"
TYP.

KA75-A-T-3 4.43 52

KA75-A-T-4 5.51 60

KA75-A-W-1 1.29 14

24"
TYP.

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

TO ACCEPT A
4" IPS (4 1/2" O.D.)
TENON x 9 1/2"L

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

SET SCREWS

2 SETS OF
(3) 3/8"-16

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

13 9/16"

20 5/8"

A

A

 13 9/16"

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

2"

4"

9"

2"

4"

2"

4"

2"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

VIEW A-A

1 1/2"L SLOT
(2) 3/4" x

3/4" Ø KEYHOLE

12" 9"

4"

Top View

Top View

Top View

Top View


